V ElZO

User’s Manual PCSI(—Rl
HXi%EREAS

 This product is an adapter used to mount a compact PC on the back of a monitor.

+ The installation method varies depending on the shape of the compatible monitor and monitor stand.

+ For information on the compatible monitor, PC, and installation method, access our Web site and check “Installation Manual” under
“Documents Compatibility” provided on the page for each monitor. http://www.eizoglobal.com

c ZOEGRE, NV E 1 —2E T2 —EEICRY I BHDT Z T2 TY,

S EZRZ—BLVEZZ—ARY FOERICE ST BMURMIFTHEDEGEY £,

HGDEZZ—. AvE1—2, BRUBRYUMFAEICOVTIE. HtWeb YA bPDEEZZ2—DRX—I T, R+ X2 b/ Eft
MIER) O TREZ27)V] ZTHEERIEW, http//www.eizo.cojp

PRECAUTIONS
R LEDEER

+ This product is not permanently fixed to the monitor. When moving the monitor, remove this adapter from the monitor stand.

+ To prevent the product from falling off, secure enough depth and area on a desktop or other installation location. Be sure to fix
the mounting bracket with washer screws.

+ Do not install this product to devices other than a compatible monitor or PC.

- After installing this product, do not put any cable through the cable holder on the monitor stand. The cable may get caught and
disconnected.

- COHEBIE. EZA—ERRICIEETNE A, EZZ2—Z2BET 5561 A7 X TR2EZEZ2—X 2V FHoEWUHA

LTLEEL,
ETRHLED s, NIxERBISAORITEZRRL TLLEY, ey BTMYMITEREZT Y Vv —(ERLCTLESH TS
ELCTEEL,

HGEZRZ—PRIED Y E 21— 2 UAMUFE I [FIF 0T RREL,
c COBRERD G RIE. EZ2—RIDREZY FIEH 57— TIVRILE—Icr—T IV E@ETWTLREL, 7—7Ibh
B EENTHHRT BAIREED DY T

——

Package Contents _
Mounting bracket

*@@Eﬁl ¢ Y28 User’s Manual (this manual)
HikEiEE (RF)

D g D o

Adapter Screw : M4x8 Washer screws : M4x8
7T AR L M4x8 Ty v —fFERL  M4x8




Outline Dimensions

= AKX

@ Adapter / 77 A TRAAKIK

Net Weight: Approx. 0.6 kg Unit: mm
B2 :#06kg 100 BAfT : mm

100

75

I

|

|
\\i

00
—

s
‘\
|
‘\
1

77777 T TN =
. | ‘ i g
© ! - -
= C 7575
508 B R
ol $ 100x700
S
5048~
100x100x2

_ % - 216 _ 9%

@ Mounting bracket / RV {FIF&E

Net Weight: Approx. 0.08 kg Unit: mm
B2 #0.08 kg ] BT : mm

723
67.3

%.9

]

o o P

Regarding Disposal -Dispose of the products in accordance with the laws and regulations of your region.
BEICDWT ARG, EAREOEBIRESTHEELTILEL,

« If you have any inquiries regarding support of this product, contact your local EIZO
Inquiries representative.

jaﬁiﬁb\ébﬂ— . 1) O [— N A N==-TRN > = . o — A=K TN
AHBICEATEBHEVNEDEIE. BEVEIFORSEEE 21 EIZO UR— MM T EEW,
http://www.eizo-support.co.jp

EIZL Corporation

153 Shimokashiwano, Hakusan, Ishikawa 924-8566 Japan

EIZO#%X&1t

T924-8566 )l IRELT MHEFET 153 i

http://www.eizoglobal.com

http://www.eizo.co.jp 1st Edition-December, 2017 Printed in Japan.
03V27182A1
Copyright © 2017 EIZO Corporation. All rights reserved. (UM-PCSK-R1-AL)



